C:h Vertical Division with aHelper Grid Name:
Solve each problem. Answers

1) 2) 3)

35[8956 41[8062 35[6501 -

4) 5) 6)

779702 6218928 68|16366 8.

7) 8) 9)

6013300 3918156 31{2170

1-9 [89|78|67]56|44[33[22]11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 255131 2) 196126 3) 185r26 255 131
35[8956 41[8062 35[6501 i
0 0 0 > 196126
89 80 65
70 41 35 3 185r26
195 396 300 s 126
175 369 280
206 272 201 5 144
175 246 175
31 26 26 6, 93142
7 55
4) 126 5) 144 6) 93r42
7709702 62/8928 68/6366 s 20915
0 0 0
97 89 63 9 0
77 62 0
200 272 636
154 248 612
462 248 246
462 248 204
0 0 42
7) 55 8) 20915 9) 70
60[3300 398156 31[2170
0 0 0
33 81 21
0 78 0
330 35 217
300 0 217
300 356 00
300 351 0
0 5 0
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1-9 [89|78|67]56|44[33[22]11] 0 |
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Vertical Division with aHelper Grid

Name:

Solve each problem.

Answers

144 126 93 r42 209 r5 255 r31 185 r26
70 196 r26 55
1) 2) 3)
35(8956 4118062 356501
4) 5) 6)
779702 628928 686366
7) 8) 9)
603300 39|8156 3112170
M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 1
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Vertical Division with aHelper Grid Name:
Solve each problem. Answers
1) 2) 3)
1
9915334 93|19006 46(7820
2.
3.
4,
5.
6.
4) ) 6) &
7414292 968448 306420 8.
9.
7) 8) 9)

559410

4316741

7818502

[ M ath ] www.CommonCoreSheets.com

1-9 [89|78|67]56|44[33[22]11] 0 |




ﬂh Vertical Division with aHelper Grid Name: Answer Key

Solve each problem. Answers
1) 53r87 2) 96178 3) 170 . 53187
99[5334 93[9006 467820
0 0 0 . 96178
53 90 78
0 0 46 3 170
533 900 322 ) -
495 837 322 |
384 636 00 5 88
297 558 0
87 78 0 6. 214
. 17115
4) 58 5) 88 6) 214
74[4292 96(8448 30(6420 s 156133
0 0 0
42 84 64 0. 109
0 0 60
429 844 42
370 768 30
592 768 120
592 768 120
0 ) 0
7) 171r5 8) 156133 9) 109
55[9410 43[6741 788502
0 0 0
94 67 85
55 43 78
391 244 70
385 215 0
60 291 702
55 258 702
5 33 )

1-9 [89]78]67[56]44[33]22]11] 0|
[ Math ] www.CommonCoreSheets.com 2
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Vertical Division with aHelper Grid Name:

Solve each problem. Answers

96 r78 109 171 r5 88 53 r87 156 r33

214 170 58

1) 2) 3)

995334 93|19006 46|7820
4) 5) 6)

7414292 968448 3016420
7) 8) 9)

559410

4316741

7818502

M odified
[ M ath ] www.CommonCoreSheets.com

1-9 [89|78|67]56|44[33[22]11] 0 |




C:h Vertical Division with aHelper Grid Name:
Solve each problem. Answers

1) 2) 3)

77[8829 92(5060 36[4896 -

4) 5) 6)
56|1468 15|12090 4411804 8.

7) 8) 9)

5319328 8416529 5016554

1-9 [89|78|67]56|44[33[22]11] 0 |

[ M ath ] www.CommonCoreSheets.com 3
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 114r51 2) 55 3) 136 114 151
77[8829 92[5060 36[4896 '
0 0 0 ) 55
88 50 48
112 506 129 . 26112
77 460 108
359 460 216 5 139r5
308 460 216
51 0 0 6 41
7 176
4) 26112 5) 13915 6) 41
56(1468 15[2090 44|1804 s 77161
0 0 0
14 20 18 o.__ 13114
0 15 0
146 59 180
112 45 176
348 140 44
336 135 44
12 5 0
7) 176 8) 77161 9) 131r4
53[9328 84(6529 50[6554
0 0 0
93 65 65
53 0 50
402 652 155
371 588 150
318 649 54
318 588 50
0 61 4

[ Math ] www.CommonCoreSheets.com

1-9 [89|78|67]56|44[33[22]11] 0 |
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Vertical Division with a Helper Grid Name:

Solve each problem. Answers
77 161 114 r51 26 r12 139 r5 131 r4 41
176 136 55
1) 2) 3)
778829 9215060 36(4896
4) 5) 6)
56|1468 15(2090 4411804
7) 8) 9)
5319328 8416529 506554
M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com
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Vertical Division with aHelper Grid Name:
Solve each problem. Answers
1) 2) 3)
1.
7113140 483312 76|8588
2.
3.
4.
5.
6.
) 5) 6) "
365744 405239 62|18494 8.
9.
7) 8) 9
8818712 85(8915 915968
1-9 [89|78|67]56|44[33[22]11] 0 |
[ Math ] www.CommonCoreSheets.com 4
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 44116 2) 69 3) 113 44716
71[3140 48[3312 76[8588 -
0 0 0 ) 69
31 33 85
0 0 76 3 113
314 331 98 . 159120
284 288 76
300 432 228 s 130139
284 432 228
16 0 ) 6. 137
7 99
4) 159r20 5) 130r39 6) 137
36[5744 40[5239 62/8494 s 104175
0 0 0
57 52 84 o. 65153
36 40 62
214 123 229
180 120 186
344 - 39 434
324 0 434
20 39 0
7) 99 8) 104r75 9) 65r53
88[8 712 85(8915 915968
0 0 0
87 89 59
0 85 0
871 41 596
792 0 546
792 415 508
792 340 455
0 75 53
[ M ath ] www.CommonCoreSheets.com 4 - | = | 78| = | = | = | 33' = | = | > |
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mmonCoreSheets.com

Vertical Division with aHelper Grid Name:
Solve each problem. Answers
104 r75 99 130 r39 44 r16 113 69
65 r53 159 r20 137 1
1) 2) 3)
7113140 483312 7618588
4) 5) 6)
365744 405239 62|18494
7) 8) 9)
8818712 85|8915 9115968
M odified 1-9 |89|78[67[56]44[33[22]11] 0 |
[ Math ] www.Co 4
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Vertical Division with aHelper Grid Name:
Solve each problem. Answers
1) 2) 3)
1.
2716912 39|5616 5419882
2.
3.
4.
5.
6.
) 5) 6) "
7913247 563256 23|5258 8.
9.
7) 8) 9
4918785 4919849 2219460
1-9 [89|78|67]56|44[33[22]11] 0 |
[ Math ] www.CommonCoreSheets.com 5
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 256 2) 144 3) 183 256
27[6912 39[5616 54[9882 i
0 0 0 ) 144
69 56 98
54 39 54 3. 183
151 171 448 . a1r8
135 156 432
162 156 162 5. 58r8
162 156 162
0 0 0 6. 228rl4
. 179r14
4) 41r8 5) 58r8 6) 228r14
793247 56(3256 235258 s 201
0 0 0
32 32 52 0. 430
0 0 46
324 325 65
316 280 46
- 87 456 198
79 448 184
'8 8 14
7) 179r14 8) 201 9) 430
498785 49[0849 22[9460
0 0 0
87 98 94
49 98 88
388 04 66
343 0 66
455 49 00
441 49 0
14 0 0
[ Math ] www.CommonCoreSheets.com 5 vo [Rlmlerla ]




C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
228 r14 41 r8 201 144 179 rl14 183
430 256 58 r8 1
1) 2) 3)

2716912 395616 5419882

4) 5) 6) 8.

7913247 563256 235258 N

7) 8) 9)

498785 4919849 2219460

M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 5




C:h Vertical Division with a Helper Grid

Name:
Solve each problem. Answers
1) 2) 3)
1.
964128 694372 9718894
2.
3.
4,
5.
6.
) 5) 6) "
7511875 4818496 56|8624 8.
9.
7) 8) 9
45|19248 845031 2912204
1-9 [89|78|67]56|44[33[22]11] 0 |
[ Math ] www.CommonCoreSheets.com 6




=

Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 43 2) 63125 3) 91r67 43
%4128 694372 o7[8894 -
0 0 0 2 63 r25
41 43 88
0 0 0 3. 91r67
412 437 889
4 25
384 414 873
288 232 164 5 177
288 207 97
0 25 67 6. 154
7. 205r23
4) 25 5) 177 6) 154
75/1875 48(8496 56(8624 s 59r75
0 0 0
18 84 86 J 76
0 48 56
187 369 302
150 336 280
375 336 224
375 336 224
0 0 0
7) 205123 8) 59r75 9) 76
45(9248 84(5031 292204
0 0 0
92 50 22
90 0 0
24 503 220
0 420 203
248 831 174
225 756 174
23 75 0
[ M ath ] www.CommonCoreSheets.com 6 B | = | 78| = | = | = | 33' = | = | > |




C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
63 r25 154 59 r75 76 177 91 r67
43 25 205 r23 1.
1) 2) 3)

%4128 694372 978894

4) 5) 6) 8.

751875 4818496 568624 o

7) 8) 9)

4519248 84|5031 2912204

M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 6




C:h Vertical Division with a Helper Grid

Name:

Solve each problem. Answers
1) 2) 3)
1.
8813476 686664 13{4704
2.
3.
4,
5.
6.
) 5) 6) "
8114293 2514100 4411452 8.
0.
7) 8) 9
2012650 3415213 11{7591
1-9 [89|78|67]56|44[33[22]11] 0 |
[ Math ] www.CommonCoreSheets.com 7
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 39r44 2) 98 3) 361r11 39 ra4
88[3476 68[6664 13[4704 -
0 0 0 ) o8
34 66 47
0 0 39 3 361rll
347 666 80 . -
264 612 78
836 544 24 5 164
792 544 13
44 0 11 6. 33
;. 132r10
4) 53 5) 164 6) 33
81[4293 25[4100 44|1452 s 153r11
0 0 0
42 41 14 0. 690r1
0 25 0
429 160 145
405 150 132
243 100 132
243 100 132
0 0 0
7) 132r10 8) 153r11 9) 690r1
202650 34[5213 117591
0 0 0
26 52 75
20 34 66
65 181 99
60 170 99
50 113 01
40 102 0
10 11 1

[ Math ] www.CommonCoreSheets.com

1-9 [89|78|67]56|44[33[22]11] 0 |




C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
33 132 r10 153 r11 98 164 39 r44
690 rl 53 361 rl11 1.
1) 2) 3)

88|13476 6816664 13|4704

4) 5) 6) 8.

814293 254100 4411452 o

7) 8) 9)

2012650 3415213 117591

M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 7




C:h Vertical Division with aHelper Grid Name:
Solve each problem. Answers

1) 2) 3)

1
519350 9215888 7411578

4) 5) 6)

687335 8714005 217224 8.

7) 8) 9)

6612178 2812463 97|11358

1-9 [89|78|67]56|44[33[22]11] 0 |

[ M ath ] www.CommonCoreSheets.com 8
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 183r17 2) 64 3) 21r24 183117
51[9350 92/5888 74/1578
0 0 0 64
93 58 15
51 0 0 21 r24
425 588 157 107 150
408 552 148
170 368 98 4613
153 368 74
17 0 24 344
33
4) 107159 5) 4613 6) 344
687335 87[4005 21[7224 87r27
0 0 0
73 40 72 14
68 0 63
53 400 92
0 348 84
535 525 84
476 522 84
59 3 0
7) 33 8) 87127 9) 14
662178 28[2463 97[1358
0 0 0
21 24 13
0 0 0
217 246 135
198 224 97
198 223 388
198 196 388
0 27 0
[ M ath ] www.CommonCoreSheets.com 8 - | = | 78| = | = | = | 33| = | = | > |
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Vertical Division with aHelper Grid

Name:

Solve each problem.

Answers

107 r59 87 r27 344 33 14 183 r17

46 r3 21 r24 64
1) 2) 3)

5119350 9215888 74|1578
4) 5) 6)

687335 8714005 217224
7) 8) 9

662178 2812463 9711358

M odified 1-9 [89[78]67[56[44[33]22[11] 0 |

[ Math ] www.CommonCoreSheets.com 8
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Vertical Division with a Helper Grid Name:

Solve each problem.

1)
435147

2)
5011700

3)

9214508

Answers

4) 5) 6)
7312628 20(4551 976525
7) 8) 9)
8113750 9112276 235819
[ Math ] o) 1-9 [89]78[67[56]44]33]22[11] 0 |
www.CommonCoreSheets.com
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 119r30 2) 34 3) 49 . 119r30
435147 501700 92[4508
0 0 0 ) 34
51 17 45
43 0 0 s 49
84 170 450 , 36
43 150 368
417 7200 828 s 227r11
387 200 828
30 0 0 6. 67126
7. 46124
4) 36 5) 227r11 6) 67126
73[2628 20[4551 976525 s 2511
0 0 0
26 45 65 0. 253
0 40 0
262 55 652
219 40 582
438 151 705
438 140 679
0 11 26
7) 46124 8) 25r1 9) 253
81[3750 91[2276 23[5819
0 0 0
37 22 58
0 0 46
375 227 121
324 182 115
510 456 69
486 455 69
24 1 0
[ M ath ] www.CommonCoreSheets.com 9 - | = | 78| = | = | = | 33' = | = | > |



C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
36 227 r11 253 25r1 34 67 r26
119 r30 46 r24 49 1.
1) 2) 3)

435147 50(1700 9214508

4) 5) 6) 8.

732628 2014551 9716525 N

7) 8) 9)

8113750 9112276 235819

M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 9




C:h Vertical Division with aHelper Grid Name:
Solve each problem. Answers

1) 2) 3)

18[7524 53(7950 76(4386 -

4) 5) 6)

5218112 8013593 38|7054 8.

7) 8) 9)

9316789 2713700 7212319

1-9 [89|78|67]56|44[33[22]11] 0 |
[ Math ] www.CommonCoreSheets.com 10
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 418 2) 150 3) 57154 418
18[7524 53[7950 76[4386 "
0 0 0 ) 150
75 79 43
72 53 0 3 olrd4
32 265 438 . 156
18 265 380
144 00 586 5. 44 r73
144 0 532
0 0 54 6. 185r24
7 73
4) 156 5) 44¢73 6) 185r24
52(8112 80[3593 387054 s 13711
0 0 0
81 35 70 0. 32115
52 0 38
291 359 325
260 320 304
312 393 214
312 320 190
0 73 24
7 73 8) 137r1 9 32r15
93[6789 27[3700 72[2319
0 0 0
67 37 23
0 27 0
678 100 231
651 81 216
279 190 159
279 189 144
0 1 15

[ Math ] www.CommonCoreSheets.com
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C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
57 r54 32 r15 156 418 185 r24 73
150 137 r1l 44 r73 1.
1) 2) 3)

18|7524 5953|7950 764386

4) 5) 6) 8.

5218112 803593 387054 o

7) 8) 9)

9316789 2713700 7212319

M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 10
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